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Instructions for the Candidates

1. Write your Roll Number in the Eace provided on the top of this page.
2. Thi
3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested

This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(ii1) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on

the correct response against each item.
Example: 72 @ (C) (D) where (B) is the correct response.

- Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your

response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except

for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or "m‘ﬂl"[‘,’ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and

must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking, )

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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SOCIAL WORK
Paper - II

1. Which of the following is not the
objective of social work ?

(A) Socio psycho-social problem
(B) Develop democratic values
(C) Provide social legal act

(D) Provide financial help

2. The following point is not a principle
of Social work

(A) Principle of communication
(B) Principle of social functioning
(C) Principle of acceptance

(D) Mobilization of community
resources

3. Who was the first female social
worker pioneer to win a Nobel prize ?

(A) Jane Adams
(B) Richmond, Mary Ellen
{C) Pernell, Ruby B

(D) Pearman, Helen Harris

4. The charity organization societies
were founded

(A) To address urban poverty

(B} To help people to meet their needs
in times of difficulty

(C} To raise money for the church

(D) To organize and help beggars

1. o{lAetniell g iy staioll
Gaal oiell ?

(A) WS Hlol-AHRS AHRU

(B) clsaudl yelloll Qs
(C) MBS — stofell Hee Y wiscll

(D) sweusla Hee Y3 wsdl

2. o(lQeuniell sl yal WHRs st2laAl

Rgid ool

(A) doucaiasizeall Rgic

B) WHYs sidsiAelld Raid
(€) sl Rgic

(D) ¥YelA AALalle] As{ls20

3. UM ollAdd YRes1? otz yan uldel

s st2l52 YAl St sl ?
(A) %ol WS

(B) Bwlles , A4l lAat

(C) ueld, 30l ofl

(D) MR, dctot 3R

4. ARJ] Uotsetell Waadlzilell euusu

Hualed Slott {2 scltMl el ol
(A) 283 olellal g2 U M2

(B) Yocllott AMHAML ASl Anell
3R YIl srauni Hee sal

(C) AA W2 st VAsA sl
(D) Euudllla Aou 531 Hee sal



5. Dr. Ambedkar famous slogan for the
empowerment of all people was
(A) Educate, organize, agitate

(B) Competence, discipline,
commitment

(C) Educate, Training, Respect

(D) Respect, Dignity,
Self-Determination

6. Foundations laid during early years
of a child are important because

a. Childrendonotoutgrowundesirable
traits as they grow older

b. Early foundations quickly develop
into habits

c. Children outgrow negative
traits

d. It influences life long influence
on child’s personal and Social
adjustments

(A) a, b, d butnot c
(B) a, b, cand d

(C) b, c and d only
(D) a, ¢ and d only

7. The correct order of the stages of
psychosexual development is

(A} anal, oral, genital, latency,
phallic

(B) phallic, oral, genital, anal,
latency

(C) oral, anal, genital, latency,
phallic

(D) oral, anal, phallic, latency,
genital

N

5. SL WiGls$Re] i AlSloll UABASK
HiRe] yRle YA 53 &q
(A) QA olall, ot violl, A 5

(B) &M, [Qla, ulQoigdt

(C) R otell, ctellH, BUER
(D) AER, d0Ra, uteHfetL

6. U2@s axl e[l sltviaun det

il Hect yel 8 sl

a. oynsl el wal e AUl uwsslla
el v dudl o8l

b. Y2@s uel »sudl 2aHl AsA &

C. GlLNSl elSRIHS AaRlal clurR B

d. d sllnsetl cAEALA el WHURS
Jlsagl uR Waet yeas yeldd
53 B

(A) a, b,d ud c ol

(B) a, b, c wal d

(C) HA b, c val d

(D} WA a, c v d

7. Holldslfds @staolt dotsstoll w2l
54 8

(A) o€l WS, etstiol, [Qciw, s
(B) $UAs UM s, wotatial, €L, [QAeiol
(C) A5, dJeL, wototlol, [QAclw, slds

(D) Afs, djel, sUds, [QAciol, wststiol
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10.

In which of Act, has CSR provisions

been included ?

(A) CSR Amendment Act

(B) Social Responsibility Act
(C) The Companies Act

(D) The Corporate Governance Act

. The ‘code on wages’ does not include

which of the following Act ?
(A) Equal Remuneration Act
(B) Payment of Wages Act
(C) Standing Order Act

(D} Payment of Bonus Act

Welfare provisions of Canteen facility
is a
i. Intra Munal welfare facility
ii. Extra Munal welfare facility
ii. Statutory
iv. Non-Statutory
(A) 1and iii
(B) i1 and iv
{C) iii and iv

(D} i and iv

8.

10.

sl SIAELHL CSRa lotalesell
Al sl WA 8.

(A) CSR VHo5HS 52
B) Arud Audallellclél Ase

(€) Hl suoll Ase
(D) tf SilRe olciolod A5

@A Acuniell U slAelall AHLA
‘ot WaUR Mo’ 5¢) el

(A) AHtetdctol YR
(B) UdlR-yYsagll uil

() wWBs Aoz (st vy -
L3l

(D) oot Ysallol wA

Fedlot' oll scRUBL I Aoleuts A 565
HaLas

i. vigell scaueL Aolas
. o8l SCRUBL AAAS
i, slaABUR ol olas
iv. (W5 AANAS

(A) i ¥l iii
(B) ii Aol iv
(C) iii Vol iv

(D) i e iv

I
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11.

12.

13.

14.

Sociologists describe the term ‘group’
as

(A) Collection of people

(B) People involved in organized
pattern of interaction

(C) People interacting at a place
{D} Participants in a gathering

Which of the following is the principle
of group work ?

(A) Create more groups
{B} Planned group formation
(C) Provide material support to groups

(D) Encouraging groupism

Which of the following is not a
principle of social group work ?

(A) Confidentiality
{B) Guided group interactions

(C} Progressive programme
development

(D) Evaluation of the progress made
by the group

Which of the statement is false in
context of social group work ?

{A} Social group work has group
processes

(B) Social group work is a direct
method of social work

(C) Social group work includes group
dynamics

(D) Social group work is an indirect
method

11.

12.

13.

14.

WLy lllol W2 o A

(A) clslell uye

B) Az 1R UoBd A
AsouAc dlsl

(C) cllsl As way A alcddld 53 &
(D) A5 RouastHi eldl Aettl Alsl

ol Aatmiell sy stelol Rgict & ?
(A) dy %A olelletel

(B) 0Bt (& U
(C) % elfds ustal Yyl wsdl
(D) %UUER YleAHlRA g

ol Aotniell 520 AUEBS 3 sl
Rsid asfl ?

(A) AMueflaic

(B) RERA % wid(s2u

(C) wolldelle sielsn @siu

(D) satHl 2Acl Youde] ycliset

UHUBs o2 s12lo Aeelul 59 Qo
wig &
(A) WHLs ou sRlul o2 wBey Ala B

(B) s ygastad ey sielell yetat
sl ugld B

(C) WHIDS % s1l-9u stasiHlsy

(D) UHLYS & sl Aylel sl
ugld 8

e



15. Match List — I with List —II and select

the correct answer from the codes
given below the lists :

List - 1 List - II

a. Empirical 1. Knowledge

Research free from bias
b. Objectivity ii. Personal
assertion
c. Fact iii. Field based
data
d. Subjectivity iv. Empirical
evidence
Codes :
a b ¢ d

A) i i i iv
B) iii i v ii
(€) i i iv i

D) iv i i ii

16. Which is the correct sequence in a

research process ?

{A) Formulation of the problem, Data
collection, Hypothesis, Analysis
of data

(B) Data collection, Hypothesis,
Formulation of the problem,

Analysis of data

(C) Formulation of the problem,
Hypothesis, Data collection,

Analysis of data

(D) Hypothesis, Analysis of data,
Formulation of the problem, Data

collection

15. YRA- 1WA YR -1 Aad «lAude
slsmiell A wellel ude 53

16.

YA -1 yRA -1

a. yaQoyes — 1. ydoedl
uojelaxedd M5 sllet
SENOL]

b. dageelcdy ii. RGP
Qapauaal  ©agst

c. 88lsd i, &2 vt

32l
d. calsaelar iv. wllbues-

sls:
a b ¢ d

(A) i i i v
By ii i iv #
€y i i iv i

Dy v i 1 1il

oftelel YUl

Aalltet scioll el MR s 52l & ?

(A)

wHRlle @Auig, HEdls

HaLs, yduRQu, Hilddled [Qaaua

(B)

HUR Al 2ote, yduireu, Al

Ry, Rl QeAuat

(©)

Wl e, ydure, @l

dae, wedle Reur

(D)

ydurel, Hede Qeawg,
AL [Anlgy,

HIR A dote
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17.

18.

19.

20.

Coefficient of correlation (r) indicates
the extend of relationship between

(A} Two qualitative variables
(B} Two quantitative variables

(C} One qualitative variable and other
gquantitative variable

(D) All of the above

The purpose of the survey is

{A} In depth study of social
phenomena

(B) Extensive coverage of population
{C) Testing of a theory
(D) Establishing causal linkage

In which of the following types
of research, hypothesis is a
prerequisite ?

(A) Biographical study

(B) Experimental study
(C) Interpretative research
(D) Critical research

Participant observation method is
ideally suited for the study of

a. Tribal Culture

b. National Culture

c. Ethnographic Study

d. Phenomenon of Globalization

Select the correct answer from the
codes given below :

{A) aand b
(B) aand c
(C) aand d
(D) cand b

17. y&¥oiusll OJRlis (r) AHIH aRlell
doltlell QR
(A) @ oRueHs uA

(B} ol dvaueHs ucdl
(C) W& IYRUHS U U Aol
UvRALeHS UA

(D) GURSel ctHH

adoA 3q B

(A) AHEEs weetllel Aselyds
eAA

(B) [Qaum azxdla madl Adl
(C) Reice] udla
(D) stasReleAl Aoitl Wl

18.

ol Aot Higll sell Usiall AaltletH]
GescUsil AW Ydad B ?
(A) PaAURA UeALY

(B) yills wvieaud
(C) wdeaoileds Aallusl

(D) [@QAusiias et
20. wsewdll Qe ugld 2ed dla
sl USloll weally Hie 2Rl 8
a. wl el sl
b. Al sl
c. AeoulEs weau

d. dRs:wlell uetl
ol vyt SlsHigl A waun

UE 52 :
(A) a ol b

(B) a ¥ ¢
(C) a¥a d
(D) c ¥ b

19.
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21.

22.

23.

There are two statements, one is
Assertion (A) and the other is Reason
(R). Select the correct answer from
the codes given below :

Assertion (A) : Life history
research can help to raise people’s
consciousness and awareness of
their exploitation.

Reason (R) : Life history research
encourages people to reflect upon
the factors that have shaped their
life experiences.

Codes :

(A) Both {A) and (R) are true and (R}
is the correct explanation of (A)

(B) Both (A} and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

When a particular technique
applied repeatedly to the same
object producing the same result
each time, it is said to have

(A) Validity (B) Reliability

(C) Probability (D) Subjectivity

The in-depth investigation of a
phenomena, or a process, or an event
that focuses on its historicity and
contemporary interlinks with wider
society is termed as

(A) Content study
(B) Participant observation

(C) Content analysis

21.

22.

23.

A RAAeal B, As [AAeat (A) val
oflof sReLR) B. (A wen NsHil

A wellod UAE $A

RAee (A) : ot Bldsiugg et
ASlell Actall Aol AHoll NG B3
YA ctreuml Hee 53l ad B,

51280 (R) : ot Bldsiae] Aluat

AR Al WRadl R [Qur s

WeiBet 53 B BQ WYootoll wojerclal
VSR A2 B
sl :
(A) (A) el (R) Gl AU & ol
(R) 3 (A) ofl el augcdl &

(B} (A) ual (R) ¢l WA B U
(R) A (A) ofl el umogcllatsll

(C) (A) WY B U (R) vilg B

(D) (A) WIg B U (R) WY 8

wUR Sl AssU cdsells ws
ARG UR clRcllk A W3S B %
€35 clld WHiel YRR AU B,

FUR Adl g sdan B ?
(A) Hlocll B) Quuslad

(C) delelsll (D) cubacalal

As yeoll, vl B, ¥ ¥ ol

AlAsl@s vl caAlus Y Wd
uusiellol URRUR lSel UR el

Yt 52 B dofl Astgiyds dw
sl wd 8. d

(A) ol Mo

B) ueewdll wactlset

(C) Aafl [QsAugy

(D) Case study (D) (Bl e
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24. MOOC stands for 24. MOOC H2 dua B
(A) Media Online Open Course (A) R et i Sot vl uet Sl
(B) Massachusetts Open Online

(B) RA2YAgY 2luot oiclefot S
(C) callus wlluel Wlotcl ot Sl

Course

(C) Massive Open Online Course

(D) Myriad Open Online Course (D) woBld 2l uet MetcteSat 51
25. What is a Research Design ? 25. ot SIABat g B?
(A) A way of conducting research that (A) dsluel sl w2l As Ad ®

is not grounded in theory Rigict U 2Rt otell

(B) The choice between using

qualitative or quantitative (B) 2AGUHS Al HIALHS ug(dalled
methods Guallol sral a2 urieofl.

(C) The style in which you present (C) % AcllHl dR M2l Agluotetl
your research findings e.g. a ARG % 5A Bl A ELd. VWA,
graph

(D) MRl doe wa QA st

(D) A framework for every stage of the ) ;
) £5 clolsst Higo] us Hlny],

collection and analysis of data

26. gif, jpg, bmp, png are used as | pg. gif, jpg, bmp, png ol GuAN
extensions for files. What does it store ? SIS HIZ AsBalet AFlE ana B,

(A) Audio data AgRRsB?

(A) tacueHs 32l

(B) Roueus 32t

(C) Video data (€) QR 3zt

(D) Text data (D) 252 dal/2uols 3at

(B) Image data

27. Which of the following is notincluded | 27. o{lQotniell 53 ‘deel YA Yo elot ui

in the ‘reference list presentation’ ? A oell 2

{A) Author’s address (A) Ause] ULy
(B) Publisher’s address (B) uslalse] Uiy
(C) Author’s surname (C) Quisell wues

(D) Year of publication (D) Uslelote] arl



b

28.

29,

30‘

31.

Universe means

(A} The ‘group’ that the research
studies about

(B} The group about which the
conclusions are drawn

(C} Total number of units from which
information is obtained

{D) The group from which the
smallest part is chosen

In “POSDCORB? ‘CO’ stands for
{A) Co-ordination

{B) Cooperation

(C) Correlation

{D) Collection

Who illustrated the concept of
bureaucracy ?

(A) Emile Durkheim
(B) Herbert Spencer
(C) Henry Fayol
(D) Max Weber

Which is the Article in the Constitution
to make special provision for women
and children ?

(A) Art. 15(3)
(B) Art. 14
(C) Art. 16

(D) Art. 39

28.

29.

30.

31.

Uy ved

(A) %oil (AN Aslust ey 52 B
A %
(B) %Boll (AW RO} RA B A %

(€) Boll WAl Ml Ana
8 d AsHlell 5c Avau

D) BHil otiell ol wiie 52 B
d %

“POSDCORB” HI CO'oll 2igl 22 8
(A) dsclot

(B) 48812

(C) HeMeiY

(D) doue

WHAELRAWEloAl VAL 5B Al ?

(A) AR gUM
(B) §01& WouUR
(C) datdl ¥t
(D) Asy AR

olulREHL HBcunl A cunsl
HZ [AAN KoraeS s HIR
GURQHL 58 5CH 87

(A) wulEsc 15(3)
(B) s 14
(C) wlse 16

(D) wZse 39



32. When was the Constitution of India | 32. GURcta] oltIRQL SR HE Uy ?
declared ?
(A) 26 January 1949
(B) 15 August 1947

(C) 26™ November 1949
(D) 25t December 1950 (D) ul B2 1euo

(A) 25l %eyuidl exve
(B) 1uHl 2dRe 1¢¥9
(C) 25l Al dIR 1exe

33. In the PREAMBLE of the Indian | 33. @Ulclell GitiRQlell dUHWHL

Constitution, which of the following oAl Acnisll U, c2lllell GeAW
JUSTICE is mentioned ? ) '
sclH] vl &7

1. Social Justice L a®s
2. Economic Justice 5 wEs a2l
3. Political Justice 3. gl A2
4. Religious Justice 4. wlls 2w
(A) 1 and 2 only (A) $5cl1 vat 2
(B} 1, 2 and 3 only (B) $5cll, 2 ol 3
{C} only 1 (C) g5c1 1

)

(D) only 2 and 3 (D) $5c 2 wal 3

34. Which of the following are part of | 34. ofQsiuigll sat A€l VUUBL

PREAMBLE of our Constitution ? GLElLR0ell BUHUL CUIL D ?
1. SOVEREIGN 1. AdelHeat

2. SOCIALIST 2. uHiwclel

3. SECULAR 3. Wi AAa

4. DEMOCRATIC 4. Asudl

5. REPUBLIC 5. ueTiLS

(A) 1 and 2 only (A) §5cL1 dlal 2

(B) 1 and 3 only (B) $5¢L 1 uA 3

(€) 1,2,3,4,5 (C) 1,2,3,4,5

D) 1,2 and 3 (D) 1,2ua 3
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35.

36.

37.

Which are the modes of losing Indian
Citizenship ?

1. Renunciation
2. Termination
3. Deprivation
(A) only 1, 2

(B) only 2, 3

(C) only 1 and 3
(D) 1,2and 3

In which Part of the Indian
Constitution, the Fundamental rights
are provided ?

(A) Part 1l
(B) Part III
(C) Part V
(D) Part IV

Which of the following is/are false
about Fundamental Rights ?

1. Fundamental rights are covered
in Part IV of constitution

2. Fundamental rights are covered
between Art. 12 to Art. 35

3. Fundamental rights are inspired
from Bill of rights, US

4. Fundamental rights cannot be
amended

(A)
(B) 1 and 4 only
(Clonly 1, 2,4
(D) only 1, 3,4

only 1

35.

36.

elizcdla et st oputacell 58 Al

&8 7
1. 3L

2. UHIAA

3. dRdd

(A) §5ct 1 3ol 2
(B) 571 2uA 3
(C) %5l 1 ua 3
(D) 1,2 ua 3

‘Hogd w5’ eucla el
sl AUOHL e &

(A) GUDL II
(B) @O III
(C) @V
(D) U IV

37. Yool wAst Acitll RAumidl su

Qe vl 8.

1. 4agd AEsR duRRel ool ~1v
Hi Qe udd 8

2. Yoo ulEstell wdsl oiulgedl
s 12 4l 35

3. Yagdt @5 - 1A st
wEstzoll ofle u? ol Udla 2da &.

4. Yooy AU@sA Yl usiclatell.

§5c (1)

(1) el (4) WA
$5cl (1), (2), @)
$5c (1), (3), @)

(A)
(B)
()
(D)



38. Which of the following is true about

Directive Principles of State Policy ?

1. These are direction to society.

2. Aim of DPSP is to develop
socio-economic equality in the
society.

3. DPSPare superior to Fundamental
Rights. Fundamental right which
violates DPSP would be void.

4. DPSP are justifiable in nature.

(A} Only 1 and 2
(B) Only 2

(C) Only 4

(D) All of the above

39. Which one of the following is true
with respect to the Fundamental
Rights of Indian Constitution ?

(A) The sovereignty of the people

(B) Equality of opportunity for all
residents

(C) Limited government

(D) Democracy

40. Right against exploitation seeks to

protect the weaker sections of society

by

(A) Prohibiting traffic in human
beings and beggary

(B) Prescribing minimum wages for
the workers

(C) Placing a ban on introduction of
compulsory service by the state
on the plea of public interest

(D) None of the above

38. Azl Hleds Reld Ul QAAaniell
53 [Quuet — iy B.

1. AAell Holedls Rald Wiy ol
Rau B.

5. DPSPal &q s wells
HHteldAl- HHIHL 2 d s2clill &,

3. DPSP-yungd wufdsidel Guelsaust
8. Yngd w05 DPSP of Geeiuat
52 dl- A REGUAA TS B,

4. DPSP-aeladl s2uaiotd 9.

(A) g5ct (1) vl (4)
(B) $5¢l (2)

(C) $5ct (@)

(D) Guetl dAHIH

39. GllRcloll titlWlell Yoo RS
dotll 53 Quet wy 8.

(A) sl el
B) M 3ol csell et

(C) Haldld usIR
(D) Asaél

40. AR (A6 —w@sR oo adle] 2818
52 8

(A) Hotat [@ggst Hidll #3531 aigls Asd
(B) SIHEIRL MR oJotcldl- Aot (A

539

(C) 932 (Bctefl- g2t -Acuiell
WRYHUR A5 el

(D) GuURAs As Lt «iél
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41.

42.

43.

The Right to Constitutional Remedies
means

(A) The right of the citizens to request
the Parliament to amend the
Constitution

(B) The right of Indian citizens
to mobilise public opinion in
favour of some constitutional
amendments

(C) Right of citizens to disobey
the Constitution under certain

circumstances

(D) Right to move the courts for

enforcement of Fundamental
rights granted by the Constitution

Which one of the following statement
is correct ?

(A) The Fundamental Rights granted
by the Indian Constitution are
absolute

(B) The Fundamental Rights of the
Indian citizens are non-justiciable

(C) The Fundamental Rights of the
Indian citizens are justiciable

(D) The Fundamental Rights of the
Indian citizens protect them
against the tyranny of the
majority

The Fundamental duties are added

to the Constitution

(A} To make the Fundamental Rights

more effective

(B} To check anti-national, subversive
and unconstitutional agitations

{C) To accord priority to the directive
principles over Fundamental
Rights

(D) To achieve all the above objectives

41.

42,

43.

oltRela Gl wfdsR Wed

(A) GLURRMHL YURL S M2 AUER
Qoicdl s2cuell R sl wlAsIR

(B) ¥ecusell d¥qul d: ulelyla-
Vs sclloll el «oidls
oltueftar YU

(C) iYs ABNML itlQloll BlLER
sclloll AWM 512

(D) o118 Gl UULAUHL Bl
yoejct SR wHA HER
BELAAH] weloll WSR2

QA ol 57 [Qtuet iy B.

(A) Rcoll KWl ool AU
s 8.

B} enzcla aiaidl st yagd wlsR-
RUABINA .

(€) elrcla st sl Yoyt AU@sA
UL B,

(D) GilRctell tLtllQlell Yngel WRSIR-
tRctoll oltotdlsal wgHcllofll greuell
aeL A B.

Hnejel 59100 A el el
gl
(A) Yoot WESRIA AR USRS

oellelell
B) 2Ac2 QA ua et oitzella

WELEtell UR EuRW 2wl
(C) DPSPal yagjcl wEsiA GuR
B3l AUl

(D} GURSL MM Gt 3l AU
Holeds Raidla Be sal w2
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44. Which one of the following rights is

45.

46.

vital for the successful working of
democracy ?

(A) Right to property

(B) Right to association

(C) Right to assemble

(D) Right to criticize

In order to address the Zero hunger
SDG, the Food and Agriculture
Organisation urges countries to

1. Meet the immediate food needs
of their vulnerable populations

2. Keep global food trade going

3. Support small holder farmers’
ability to increase food production

(A) Only 1

(B) 1 and 2
(C) 2and 3
(D) 1,2 and 3

Which of the following is not a target
of SDG 5 Gender Equality ?

(A) End all forms of discrimination
against all women and girls
everywhere

(B) Eliminate all harmful practices,
such as child, early and forced
marriage and female genital
mutilation

(C) Adopt policies, especially fiscal,
wage and social protection policies
and progressively achieve greater

equality

(D) Ensure women’s full and
effective participation and equal
opportunities for leadership at
all levels of decision making in
political, economic and public
life

44, Asn-%dd AsWEl {2 s AU@s2

%32 8.

A) Retsdall u@sR
(B) AU Ycltoll A[Es12
(C) UdN6etoll Ads1R
(D) Elst-sallell RS2

45. SDG 9ol ¢uial dollual HIZ, uiEl ual

s 2otset Ealal ol W2 [@Qoicdl 52 ®:

1. Auell arcllell ciest@s vilusedl
3RUA Y3l 53

2. d@s wia QuIR AUl AW

3. olloll Geuleslell witel Geuleet

auRellell udia 25 w1 B.
(A) $5ct 1
(B) 1 a2
(C) 2ux 3
(D) 1,2 Aa 3

46. o{lAotidl 53 SDG 5 (Aol UHletdle]f

e ol ?

(A) €35 wRUA dHIH HBARA A
1530 AR dAHIH USLRell AEailcloll
vl Alell

(B) dxi slelsizs el £2 53\, Bk
olls, AdCl Vol ¥HUEXA At WA
&l ootetiol (AWea

(©) oll[Q2ll UYelldl, v 53
AwsNl2l, Actot A MRS YR8
oA, el sMA Ay UMHLelell
Ylid s2-

(D) A¥sla, wEs vl @2 Yelotnl
(a2t Aellell dMIH R HRE R
AYel el wUsIRs @(leldl ua

el M2 AHlot dsloll widdl 531




47. Which of the following is included in

SDG goal 11, ‘Sustainable cities and
communities’ ?

1. Provide universal access to safe,
inclusive and accessible, green
and public spaces, in particular
for women and children, older
persons and persons with
disabilities

2. Strengthen efforts to protect and
safeguard the world’s cultural
and natural heritage

3. Ensure access for all to adequate,
safe and affordable housing
and basic services and upgrade
slums

{A) Only 1

(B) 1 and 2
(C} 2and 3
(D) 1,2 and 3

48. Which of the following is a target of

SDG 13 7?

(A) Take Urgent action to combat
climate change and its impact

(B) Reduce inequalities within and
among countries

{C) Build Resilient infrastructure

(D) Ensure universal access to
affordable, reliable and modern
energy services

47.SDG 2L 11, ‘2516 23 ol Al
Al Aomiell 53 wulde B

1. dctHd, e wel Yyue,
sRatull sl @R oAl
W wdBsyda, v sdlal
URARAL A ol S, s

sl sl WL
5 1

2. [@Qalo uizslds wad gedl
cllRUletl 8B Blal B
HiZoll Yaulel 1oy olelldl,

3. wallid, At ol U et
UA YOG A Al Bl UUDS
RUSUABN 2 M MR
YLlEld 53 8.

(A) 5l 1

(B) 1 ual 2
(C) 2 Aal 3
(D) 1, 2 43

48. (|l Aewnisll 53 SDG 13 of e B.

(A) vuellsct URadet wal Aol R
AN @sal {2 dlest@s waldl cl

(B) Bollell vieR vl a1
UHAA Y2l B

(C) @A @UUS BeslRE5UR oloital

(D) ¥xd, Qaaiella wal 2uylis
God Actal 2 wdBs
yau YARd s 8
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49. End abuse, exploitation, trafficking | 49. £2U2llaL, NHBL 3% wal otn 5l

and all forms o_f v1olepce against AR A ysiel Ba wa ua

and torture of children, is a target of .

which SDG ? UHILA 50" 5AL SDG of A8A B ?

(A) Sustainable cities and (A) 256 A Vsl AHELA
communities

(B) Climate Action (B) wuclisct (Bau

(C) Peac;e, qusﬁce and Strong () A, sl W 1oyt Az
Institution

(D) Good Health and well being (D) AR e ol Yuitstdl

50. Which is the significant agreement | 50. 12 {l »l1i B2Res0ll AW WA G2

of the 12t Century which led to the 22 52 $2A2 U2l B Mot WAS3)

creation of Human Rights ?
HI2 H&celoll 21Ul & ?
(A) Magna Carta

(A) Rostistel
(B) Vennia (B) @3l
(C) Cedo (€) dlst
(D) None of the above (D) Axuiel s ugl olgl
51. The origin of Human rights is in 51. Hlotd w5l Ho QM B ?
(A) American and French Revolution (A) wURBsel ual FU silQ
(B) Chinese Revolution (B) ool sild
(C) Russian Revolution (C) s sild
(D) India’s Struggle of Independence (D) elRctoll o loll daurd

52. Which organization has brought out | 52. wRARL - Hield VRSIZ YsLatot

publication ﬁﬂed ‘Healt‘h and Human 3[1-\113501 565 el ust@la s B
Rights Publication Series’ ?

(A) UNICEF () YAAs

(B) W.H.O. (B) [Qa auRoat iz

(C) UNITED NATIONS (C) YolltS2s Ao

(D) Human Rights Organization (D) Htetet RsLR el
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53.

54.

55.

56.

When did the UN issue, the Universal
Declaration of Human Rights ?

(A) 10 Dec. 1948
(B) 20 Dec. 1948
(C) 5 Dec. 1948

(D} 15 Dec. 1948

In which year was the Protection of
Human Rights Act passed in India ?

(A) 1991
(B) 1993
(C) 1995
(D) 1990

The rising death toll in police

cncournters means

(A) Democracy is criminalized
(B) Police power is increased
(C) Police is careless

(D) Law is strict

Whose power is controlled by human
rights ?

(A) State power
(B) Democracy
(C) The power of the Constitution

(D) The power of law

53.

54.

55.

56.

YllA Histcl wU@51A] AR5 AwRUA
gl Yo 59 ?

(A) 10 d1Q2.1948

(B) 20 SlA.1948

(C) 5 SIA. 1948

(D) 15 $lA. 1948

el Histal ARSI @ UL st
Ml WRd aal ?

(A) 1991
(B) 1993
(C) 1995
(D) 1990

Wy Nes1Go2 L Yeyo] Atld YHIGL
ad.

(A) Aswdle uun@sY B
(B) Weltatell Acnl «tu 8
(C) Aclluell Asiny B

(D) statelell Apcties B

Hiotdl wRAsA Sloll At U (Al
Ysia 8 ?
(A) AAUTU

(B) clsxil
(C) oltuelell uxit
(D) staAeloll Azt
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57.

58.

59.

60.

What is the age of a child in the UN
Convention on the Rights of the Child ?

{A) 16 years
(B) 17 years
(C} 18 years
(D) 21 years

Which of the following is not a
member of the National Human
Rights Commission ?

{A) Prime Minister
(B) President
{C} Speaker of the Lok Sabha

(D) Leader of the Opposition in the
Lok Sabha

In the public interest, a court or
tribunal may file a case or investigate
the matter. What is above called in
Law ?

(A) Suo-moto

(B) Habeas corpus

(C) PIL

{D) Contempt of the Court

How many basic rights have been
acquired by an Indian citizen ?

{A) seven
(B) six
(C) eight
(D) five

57.

58.

59.

60.

3, ofl, A UUR 5 slnSlell

URSIA (Aol wEHL cutnsell
GUR 585 otsfl sRcuMi wicll B ?
(A) 16 o
(B) 17 ay
(C) 18 oy
(D) 21 gy

A8l Hietel wlAs12 Yan| dgiell
A AAetinioll AL vex si2ll ?

(A) astytlet

(B) guld

(C) ClsUGUL AU

(D) clsuel QAU Yol Adl

W32 [Belal tallotmi 200{l 518 ¥ u
S EA 52 3 A deeldl dawy s
Aq, staetell uReund 9 sdawa ?
(A) Y-12l

(B) 3@ay s\din

(C) L. 285, A,
(D) s21y 3s Y 5l

el AR sA dect yngd wu@si2
Yllel Y2 8 ?

(A) dd

(B) &

(C) A6

(D) ulx
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61.

62.

63.

What is the full name of ‘ASHA’
worker ?

(A) Association of Scientific Health
Activities

(B) Association of Social Health
Activists

(C) Accredited Social Health Activist

{D) Accredited Social Health
Association

Assertive {A) : There is tremendous
need for education of youth with
regard to the knowledge, attitude and
skills required for successful family
living.

Reason (R) : Indian families need
to be better equipped to deal with
multitude of internal challenges and

external demands of contemporary
life.

(A) A and R are not related
(B) A is right but not R
(C) R is right but not A

(D) Both are right and R is the reason
of A

National Disaster management
authority comes under which ministry ?

(A) Ministry of Home Affairs
(B) Ministry of Environment
(C) Ministry of Pollution

(D) Ministry of Foreign Affairs

61.

62.

63.

vllaUcSe] A UM g B ?
(A) dstilts w0 Yol Aaleet
(B) A HURS UA 5121530 HOWBet

(C) Hioicll Yl AHUBS AR~
s2isR

(D) HleAclt Yltel #HUBS B0
WA R et

531ai (A) : ASN S12(0ls eiat M2 sliot,
AGAR WA FAGALotl A oM yauadlui
RQewell wou o %32 3.

51281 (R) : uHscllot ctototl MRS
USSR el oitel Hidlell WMol sl

HER2 elrcdla WRadlel ay il Ad
Uy s2clloll %32 B .

(A) Autal R ol oell

(B) A HlY B U R otell

(C) R GRIIR & Uyl Al

(D) 6@ WA D ol R A A of 5120 B

Aol Boseer AalwAee WNARE s
ool 360 a8 ?

(A) 36 HouA
(B) wallazel Haue2
(C) YEMBL Houe

(D) Q22 cleiclle] Haaa
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64.

65.

66.

67.

The purpose of hazard map is to
identify and display the location of

(A) Risk zones
(B) Hazard zones
(C) Vulnerability

(D) De-contentment zones

Abortion due to genetic abnormalities
has been legalized under

(A) MTP Act 1970
(B) PNDT Act 2004
(C) DDIT Act 1990
(D) MRTCP Act 2004

Section 10 of the Hindu Adoption and
Maintenance Act 1956 deals with

(A) Conditions for valid adoption

(B) Maintenance of children and aged
parents

(C) Persons who may be adopted

(D) Capacity of a male Hindu to take
in adoption

A child below the age of

who commits crime, is not held
morally or criminally responsible for
the act.

(A) S years
(B) 7 vears
(C) 10 years
(D) 12 years

64.

65.

66.

67.

Bl Mol oigelloll GRal, of 2ellet
Bl WA Yefld scllell B

(A) ot [Arctz

(B) sl {Qacllz

(©) A&t — A AAeatalld

(D) De-contentment (JASAUH) RHlot

wliojcifals AUUUURRAAL 5128 iUl
Ul 5l2AEL 350 SIRATHUR sl wudl &

(A) Al Ase 1970

(B) A5l Ase 2004

(€) SlSlugdl Ase 1990
(D) AnuRE{ Ase 2004

(Bef x5 U Mgl URRAuH1956
ofl st 10 WA doildd B

(A) ot £xis HIZ<l 212l
(B) cucsl wal gg Hicdlctell el
(C) % sl Etls @S ASLA B

(D) exis Aclloll (Bog Yuell ainct

— 2l el GuRell ol B Ofell 52
8, Adl allds wetal ofeitlet seat W2
W AGELR QLU HL Ul otefl.

(A) 5 oy
(B) 7 o
(C) 10 ax

(D) 12 ay

I




68. Which of the below is not correct

under the Protection of Children from
Sexual Offenices (POCSO) Act ?

(A) Child friendly law that works
towards protecting the best
interests of a child

(B) Child is not required to go to the
police station

(C) Police station can refuse to file an
FIR under POCSO

(D) An adult whom the child trusts
can accompany the child in all
the processes

69. What type of crime is committed by

an Account officer who manipulates
accounts of a business corporation ?

(A) Smuggling
(B) Cyber Crime
(C) White Collar Crime

(D) Money Laundering

70. Which one of the {ollowing is
considered as a contemporary form
of crime ?

(A) Beggary

(B) Commercial sex
(C) Cyber crime

(D} Dowry death

68. lcllal gounlell cumnste 28131
(POCSO) uE[AM 360 o[ Aettriell 53

Ao o2l ?

A) ol Holygl slA€l B cllsetl s
Rclej 2810l sau M2 s 52 B

B) cosal Vel e etet weltofl %32
atefl

(C) Welld R9lel POCSO 360 FIR
EluEl scloll Batslk 53 b 8

(D) As Yuet Foil UR olNs [QauA 52

B A M uldaudl onsell W
wdl 23 B

69. [(Axalx silRatel Buct wuBstdl g1t
gl Y5l Jfsll sauUMl wuld & Rell

WidiHl A 32%2 52 8
(A) el
(B) AUAUMR sITH

(C) calfe 5l stgfH
(D) Qaw ofl et 323

70. {lAeuniell 53j ofolle] unsIEllot 23U
HiotclHl WA 8 ?

(A) {wudl

(B) e AuR

(C) AUAAR sIEH

(D) £&% Y

I
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71. Embezzlement belongs to which

72.

73.

74.

category of crime ?

(A) Crime against property
(B) Cyber crime

(C} Crime against humanity

(D} Crime against women

is the act of publishing
of defamatory material against
another person with the help of
computers or internet.

(A) Cyber Defamation
(B) Data Diddling

(C) Software Piracy
(D) Salami Attacks

Fraudulent use of credit card is called
{(A) Cheating

(B) White collar crime

(C) Embezzlement

(D) Cyber crime

Which among the following is the
feature of professional crime ?

{A) Crime is the criminal’s sole source
of livelihood and is engaged in for
economic gain

(B) The criminal career is not highly
developed

(C) Considerable skill is not involved

(D) Crime is not the criminal’s sole
livelihood

71.

72,

73.

74.

Guuct sl Ieitoll ARMMi 2 B ?
(A) Metsd Wi el
(B) Al2AuR s1E88H

(C) Mlotelal WA el
(D) B WA oYl

5112 wadl Heraze(l

Heeadl ot s WA oiestallagels

Al ustEld sclle] st B,
(A) AR oleatgll

(B) 3e1 3sldoat
(C) AsedAR waRAl

(D) seuHl w2 (guc)

3Sle si8ell £2 GUaAE 9 sdaa B ?
(A) B8
(B) calsfe slelR ol

(C) Guaud
(D) WaAR st8H

ol Aetuiell 53 catcml@s dfelle]
el 8 ?

(A) et A 3fAourell v (Asie] W
Hlct B ol Wildls cllet W2 AsAd B

(B) 9ottt 5B€T vt [AsRc stell

(C) alluuwAt gandl e «iell

(D) el A AN Asaux weplAst
o8l

T s
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75.

76.

T7.

78.

Which of the following is not a
function of a probation or parole
officer’s work ?

(A) Supervising clients
(B) Intake procedures
(C) Needs assessment

(D) Helping prosecutors by making
arrests

What is not an essential component
of Human Development ?

(A) Equity
{B) Sustainability
(C} Profitability

(D) Empowerment

For Human Development, the most
basic Insurance against poverty and
critical for reducing inequality is

(A) Employment

{B) Health Services

(C} Education

(D) Social Security Schemes

Skills are required by an individual
to

(A) Improve social status

(B) Improve economic status and
general well being

(C) Improve the environment

(D) Acquire experience

75. o{lAsttiiell 53] Ylalatet Al

76.

77.

78.

WA w@stdle sl otell ?
(A) sslell 2urw

B) olluglell (8e25) yldaual
(C) Healisatsll 3R

(D) wuss s3la slaudluila
uee sl

Hlotel [Asle] vicgus ues g ol ?
(A) YHoRU

(B) 2s1Gug]

(C) oSSR

(D) uaBsW

Hietel [Asta w2, otdloll wal uHH Lot
ualsel {2 s Al Radas 8 2

(A) QAagouR

(B) Lo Al

(C) Baw

(D) AHRBS Yreu oot

s cAls H o W2 Slace %3 B.. ?
(A) wHlRs RAAML YRl

(B) &5 RARA wal UGt Yustul
Yl

(C) uaial YRl
(D) uojeict Haaal
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79.

80.

81.

82.

State’s commitment to education can
be observed through

(A) Number of students obtaining
good marks

(B} Public expenditure on education
(C) High level of teaching in schools

(D) Curriculum of children

Which of the following is not a
dimension of health ?

(A) Spiritual

(B} Physical

(C) Mental

(D) Environmental

Full form of IMR in terms of health
stands for

(A) Internal Mortality Rate

(B) Infant Mortality Rate

(C) Individual Mortality Rate

(D) Infinite Mortality Rate

People’s safety from chronic threats
such as hunger, disease and
repression and protection from
sudden hurtful disruptions in the
patterns of daily life in homes, jobs
or communities is known as

(A) Citizens Security
(B) Human Security
{C) National Security
(D) Individual Security

79. A%U(l R 1ol yAotgdl 3 fa

80.

81.

82.

AN st & ?

(A) Rt R Naatstin [QauellA6dl 2vaul
(B) Q&g R #d2 wAd

(C) wouH G e [Aatat

(D) oinslell BleAUSH

sllAottaiell 52f reuee] URMIEL ot2fl ?
(A) vurafds

B) wiRs

(C) HelRls

(D) ualezeflla

AR (RA MR of Y&l 2a3u 9
§?

(A) widRs Yy €2

(B) @Y ey €2

(C) calEaatd Y] €2

(D) 2@l ey €2

G, AL Wl Mol Befl ctioll uuslalefl
ASlell ActHcll v YR, s mauay
U el ARPEL Yetotoll Reolui vlUlets
slstes @AWl a3
vl B ?

(A) aRslell yau

(B) Hiotal yRau

(C) Al Yrau

(D) Aot Yrew
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83.

84.

85.

Entitlement to food, either by growing
it for themselves, or buying or taking
advantage of Public Distribution
System. Refers to

{A) Food Grain Security
(B) Food Security
(C) Health Security

(D) Financial Security

Protection from degradation of local
ecosystems and that of the global
systemn. Refers to

(A) Environmental security
(B) Social security
(C) Community security

(D) Eco system security

Security from oppressive
practices followed by traditional
communities, breaking down of
traditional support systems under
influence of modernization, ethnic
clashes refers to

(A) Environmental security
(B) Social security
(C) Community security

(D) Eco system security

83.

84.

85.

vl2ts H12 wldsiz, il dl del Wdistt
Hi2 Goudlal, waat 32 [Adrel
youclell wilél mact cie agal d

ol deel B?
(A) ol YREU
(B) vua yrau
(C) wRARL YRau

(D) swRuslaL yeu

Wiy 85 R ol dlils Rrenell
wellotclell 2813l A deel & ?

(A) wallarella yeu
(B) uulzs yeau
(C) AMELA Yau
(D) B5RReH Y8u

U URIOL AHELAL GlRL vlojuelkl
el exetstdl ualdell y2eu,

w1y A s2, cdellas@siel yeud
360 UAURAdLA usll yeuclAla
AL atwcl. Aol deel B?

(A) ualazella yau
(B) wules yeu
(C) AHELA YR&U

(D) BslRleH Y8
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86.

87.

88.

89‘

High and prolonged unemployment
rates, drop in real national income or
real wages, high inflation and wide
income disparities between rich and
poor is a sign of

(A) Job and income insecurity
(B) Unemployment
(C) Wages insecurity

{D} Economic insecurity

What does Natality inequality refer
to ?

(A) Preference for a boy over girl
child

(B) Female feticide
(C) Natal deaths of girl child
(D) Discrimination against women

Which among the following personality
disorder is marked by a pervasive
distrust and suspiciousness of
others ?

{A} Schizoid
(B) Schizotypal
(C) Paranoid
(D) Antisocial

Hearing music in the absence of the
same is an example for

(A) Olfactory hallucination

(B) Gustatory hallucination
(C) Auditory hallucination

(D) Hyper tension
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87.

88.

89.

G2 wal cistt wH2a Yl AAesoudlsl
€2, diztlds xdlat was M drdA@s
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Aoll Qeuell B ?

(A) ollsd] el vuasedl wycHl

(B) @arousl

(C) Adet uAcuHd

(D) (s wucundl

Wil UUHLoAcAl Y YU B?
(A) 8Blsdlal aed BlsAell uaeodll
(B) = ot et

(C) chngle] ¥artostd 3e2

(D) ¥l A Ageud

oAlAotmiell 520 calsaea Sl
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gl RQRA el & 2

(A) REALSS

(B) Raleisuct
(C) WRLAE's
(D) wAUBs

Aoll ARetdlMl Rl Ve o Adllet
dotoud 8 A ol edl B ?

(A) il emeu

(B) Qosacll ameu

(C) sucal amell

(D) oes YaIR



90. Which among the following is required

to keep a person in a hospital for
mental health for more than 90 days ?

(A) application by a counselor
(B) reception order

(C) request by police

(D) request from family member

91. Who founded the Indian Society of
Psychiatric Social Work (ISPSW) in
1970 ?

(A) S.K. Dey

(B) R.K. Upadhyay
(C) M.M. More

(D) K. Jaiswal

92. Under which of the following
legislations there is a provision called
‘protected workmen’ ?

{A} Trade Unions Act, 1926

(B) Industrial Employment Standing
Orders Act, 1946

(C) Factories Act, 1948
(D} Industrial Disputes Act, 1947

93. workers has been brought

under the ambit of code on social
security 2020.

(A} Gig
(B} Contract
(C) Permanent

(D) Layoff

90. calfselol HiclRls wcured M2 90
Rauell ay wna Yl et wi
Rl 12 ofl Aotiriiell 52f 34l & ?

(A) SIGERAAR LRl WRY

(B) Mlol@ls wRoa R st
w8

(C) Wl stz @Qeoidl
(D) seollogeisll [Qoicll

91. 1970 Hi sldaet Waadl s
wsBGals AR aé sPsw)ell
WAL 1@ 58l acl?

(A) A3, 3
(B) w2, 3. Guitaua
(C) AHMAHHR

(D) %. wadlel

92, <5r[lﬂc=u1+la[1 sl SLAEL P60
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(A) 35 yfRalert N2, 1926

(B) welBls Aerow (zaudl vu et
WA 1946

(C) siRuilell Wil 1948
D) 2NelBls Qeue w@R2AH, 1947

siHELRlA WH®s Yrae-2020
YR 5lsell ELAHL claalHl wcal B

(A) ol
(B) 8AR
(©) standl
(D) el

93.
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94.

95.

96.

Excess allocable surplus remain
after paying the maximum bonus
of 20% on the wage or salary of the
employee, should be carried forward
to the next following year for utilizing
the payment of bonus in case of the
shortage of the allocable surplus or
losses occur. This is called as

(A) Set-On
{B) Set-Off
(C) Take-On

(D) Set-in order

Name a clinical trial in which blood
is transferred from recovered Covid-19
patients to a Corona virus patient
who is in a critical condition

(A) Remdesivir

(B) Plasma therapy

(C) Oxygen therapy

(D) Hydroxy chloroquine

The Agriculture and markets are
mentioned in which of the following
list of Constitution ?

(A) State list
{B} Union list
(C) Concurrent list

(D} Union Govt. Residuary list

94.

95.

96.

s el Actot WA UOUR U HETH
20% oot Yseau Ul auliodl
staclluiA Ay oudl 22 B,
slnalust Al uesd ugal
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(A) A2- ullat
(B) ¥2-ull%
(C) 25-ullst
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(A) I3RAAR

(B) ez Al
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50 A wARAoll GeAw ol Aouniell
58 olettelofl il scumi witcl & ?
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97.

98.

99‘

100.

The test for identifying the HIV
antibodies is known as

(A) ELISA

(B) HDL Test

(C) CULTURE Test
(D) CDM Count

Daughter’s have equal share in the
parents’ property after

{A) The Hindu Succession amendment
of 2005

(B) Hindu Code Bill 1955-56
(C) Century old traditions
(D) Amrut Mahotsav Year

Persons with Disabilities Act 1995
makes provision for the inclusion of
which of the following activities in
schools ?

{A) facility for Ramps
(B) mid-day meals
(C) playground

(D) health checkup

A child who reads TOP as POT comes
under which category of disability ?

(A) Dyslexia
(B} Dysgraphia
{C} Autism

(D) Dyscalculia

97.

98.

99.

100.
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